50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

1

(07 Marks)

b. Ifx=cos0 +isin0, then sho (07 Marks)
G Sinhiik (cos36 +.1 sm3 Y (cos46 +isin 40)° (06 Marks)
(cos40 + isin40)*(cos 50 + isin 50)~*

a. fc and B=6{-3j+2k. (07 Marks)
b. , b=i+2j-3k and c=i+Ak

(07 Marks)

C. (06 Marks)

a. Find the n™ derivative of Qg cos(bx +c). (R %W (07 Marks)

b. If y=acos(logx) + b'sin(log x) prove th %%ﬁynn +(2n =0

p (07 Marks)

C. (06 Marks)

a. Find the pedal equation. (07 Marks)

y /Expand loge(1 + x) in as { (07 Marks)

8 (06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)
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6 a. Evaluate I j (xy +e ) dydx (07 Marks)
13
b. Evaluate Ixsins x dx (07 Marks)

%‘% (06 Marks)

1
j‘(x2 +y® +7°)dxdydz

2z
c. Evaluate j
1 -1

© oy

where t is the time. Find the

velocity and acceleration at4 : ¢ (07 Marks)

b. Find the angle between wn %i +2tj—t’k atthe pointt==%1.
% (07 Marks)
c. If F=3x’y-2)i y")j-2x’2’k find graddiv F)at (2, -1, 0). (06 Marks)

¥y’z at(2,-1,2) along 2i—3j+ 6k
(07 Marks)
(07 Marks)

xy)ﬁ is irrotational. (06 Marks)

KR

&’
s (07 Marks)

%&' (07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)
(06 Marks)




